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Rz v = f 1 4 98,334 24,908 10,521 873 47,771 21,205
OF oS g X E A 5 - 6 184,728 45,517 32,672 2,987 199,234 51,029
Bofg door E 8 - 4 171,891 30,782 17,562 1,077 107,833 26,445
T ST B R X E A 3 8 111,003 31,173 10,466 592 105,902 33,105
0 B i ST g I E A - - 3 23,899 7,799 1,857 118 15,046 6,129
[EL T TRV AR U A I - - 3 17,920 5,925 500 75 3,683 1,997
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= B o = 14 - 14 431,553 92,894 41,375 7,314 656,300 216,866
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BRI RS Uk 7 — s 1 2 26,666 12,494 * * 37,119 18,365
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[ G TRV R P ) 2 - 8 174,930 40,989 11,475 - 350,876 106,503
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o O TR X OE A 2 - 7 99,223 26,348 3,886 - 87,340 26,894
BE T ONT OME X OEAH 7 - 8 238,107 76,417 52,412 6,077 504,042 167,799
RTINS 5 - 6 129,318 40,639 * x 190,127 68,490
OB TS BRORE X OE AR 6 - 25 374,183 101,274 129,946 5,344 651,366 266,737
R T AT I L X E A 3 - 13 141,344 43,273 * * 233,828 39,057
2 3 S A i R U 2 - 5 59,581 21,986 * * 77,741 33,830
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BOH S AR MO 5 - 8 107,286 32,366 * % 139,178 58,482
B S IR X E A 1 - 3 41,250 18,181 * * 34,162 18,520
oz BB K OE 2 2 4 39,795 14,513 9,942 3,346 37,376 22,725
Moz T ST R X E A - - 3 34,645 16,081 3,961 608 33,517 16,947
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B9 )11 T ST X A 45 )1 ST 2 - 11 133,478 40,076 15,237 2,561 227,196 131,583
B N TR S N A X = 3 - 6 125,690 38,377 15,924 1,976 154,088 68,139
B ST R X E 8 - 14 343,172 100,118 81,690 6,527 628,568 335,798
BT N2 K 2 O 2 - 6 102,022 39,806 6,449 - 63,907 23,916
WO K X E 3 - 10 195,541 68,987 9,900 1,733 200,158 88,417
=S I VRV A S S e 10 - 17 351,568 91,640 46,859 - 610,045 245,683
G S VAR (R P 2 - 6 110,395 37,337 10,935 - 192,576 72,035
e TRV S 2 - 6 124,734 47,090 13,222 - 197,261 75,655
G S IRV - S i P = 2 - 3 62,682 25,987 4,156 - 44,865 22,905
R HOEAZADREICZ oL 5 2 8 106,805 48,859 16,651 - 166,202 111,954
£ TR VAR + A 2 2 17 225,469 75,107 72,989 5,685 378,672 162,318
R H W E N + fig 2 - 5 88,417 32,078 - - 147,157 72,477
1 BT R VAR A + fi 4 - 6 167,730 56,521 20,305 3,145 274,399 130,477
7 R TR VAR < T == + A 2 - 6 101,748 30,881 - - 126,254 62,906
NI /N VR VAR A + A 25 - 35 348,820 73,139 22,823 4,254 703,803 200,557
e VA VAR A | ol D= 13 - 30 458,992 61,225 22,690 5,016 551,265 216,646
Bk WS £ fH / / 7 67,951 19,572 6,471 1,340 157,828 63,940
E Ry WS £ fH / / 9 65,899 19,849 6,444 1,357 187,720 77,655
e /A VAR - S D / / 8 74,330 19,645 9,385 2,367 233,411 92,751
FEE A TRRTAN £ fH / /10 81,266 20,411 9,714 2,076 211,526 79,411
I N TRV AR | E fif / / 7 88,996 22,218 10,850 2,273 239,674 89,364
I N TRVl + A / / 6 62,432 18,174 5,444 1,346 130,858 52,533
N /N VR VAT <) + A / / 7 77,227 18,807 9,322 2,438 205,715 80,203
ERHNITFEOH K EE / / 15 80,326 23,168 9,775 2,430 258,502 91,240
e /N VIRV o &= fE / / 32 252,648 70,368 20,555 5,785 383,943 180,975
TR TR OK X OE 4 3 2 139,236 47,214 3,588 1,268 82,962 45,149
R ST OB X OE R / / 8 71,172 20,201 2,822 740 64,426 27,647
ST /N TR VA S P / / 8 69,924 17,781 6,058 1,893 158,951 69,475
Ry TS M T X OE AR / /11 125,424 30,678 6,344 1,421 138,202 47,366
IRy O B e X E A / / 8 76,058 26,777 2,801 843 58,045 24,168
kT = A = fE / / 8 82,489 22,513 2,819 530 60,983 20,288
e/ VIRVARE < 112 = fi5 1 - 2 39,931 13,385 616 160 11,392 4,324
e g TN A KR X 1 2 1 22,883 9,051 575 96 5,184 1,494
e /N VRV AR I = fi5 1 4 - 15,146 5,903 265 62 2,650 1,001
e Ay TH ST HE (L = fE - 3 - 8,717 3,353 57 9 372 63
[ AN Y AR i A LI = - - 10 38,357 15,525 4,723 1,768 173,153 85,724
i A VR VARE - S S ) / /12 59,796 18,409 6,095 1,622 305,582 132,207
O 5O a7 = 3 - 3 102,718 24,132 13,672 545 71,037 27,363
IR S VA o | A N=-3 - 2 3 37,513 13,743 6,688 569 37,318 21,440
=R LT 1A = - - 4 78,027 26,050 - - 55,552 26,605
/A VA = fE - - 2 31,621 14,037 6,480 356 31,681 12,566
i i I VA = f5 1 1 4 33,836 9,860 2,685 333 15,098 6,099
WO OET T = fE 2 1 13 131,782 33,258 18,282 4,428 318,409 122,896
ok BT ST E 4 - 1 62,025 20,229 15,176 925 80,144 -
E R IR = fE 3 - 6 140,836 50,260 12,570 1,829 246,742 126,158
AN oL EBpOST = f - - 4 111,850 25,541 18,154 715 55,877 30,552
& M Ep 57 = f 3 - 9 124,355 34,183 39,513 1,658 182,663 70,616
P VA EfH 2 - 3 89,915 29,039 9,124 1,366 77,031 50,021
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